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Question 1 Nipost = Had £ j“fwlj 200 3 Question 2 (continued)

(c). Solve-
3 7T s
M P
(ii). x” =3x

(ii). (3x—6)—2(5-4x)

(iii). 27 -3+318

(iii). 2-3x<7

(d).  Factorise completely —
143.95-11.61 .

(b). (i). - Evaluate ol —, giving your answer correct to two decimal places. @y =R
(if).  48x—3x°
(i1).  Evaluate (—38% , giving your answer in scientific notation correct to two (iif). ab-a+bx-x
significant f-'lgm'es. ' (iv), 5x*-2x-3

(c).  The temperature of a body in F degrees Fahrenheit or C degrees Celsius is related by the

formula F:gSngSZ. Ouestion 3
(i).  Find the value of F when C =25,
(i)  Make C the subject of the formula. (a).  Solve simultaneously —
3x—-2y=29
4x+5y=8

- Question 2

: y 8
(b).  Rationalise the denominator and simplify FT 3
().  Expand and simplify —
(). (y+4) . e (c).  Sketch, showing all major features —
(i) (4x-3)(2x-3) ' . yp=2"
: (). y=x*+1
). gx)=x*+1

(ili). y=25-=x
(i). Evaluate g(-3). ;

ii).  For what values of x i =27 ; _ ) . N
(ii) r what values af x 18 g(x) (d). Solve [2x+322 and graph the solution on the number line.
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Ouestion 4 W.

o -
Question 5 (continued)
(a).  Simplify — '
(d).  State the domain for the following —
. x* -y
- (@ T—% ) (). y=x+2
(i 32 (). y==>
¥ +2x-8 x+x-6 )
2 (iii). x*+»’ =100
s iy, L D
xy X"
(e).  State the range for the following ~
(b).  If (2+543)* =a++/b, find the values of a and b. (i) )’ilx|
_ : (). y=—V9-x
(c).  Simplify -
(i), wy=27-8
(.  (=2a'h)’
(i) 3exde? x5¢t

3¢? +4¢? + 507

Question 6

2 ; tch i i i ities
_ (). Sketch f(x) given that f(x)= { x*  for x<2 ' (a) Sketch the region satisfied by all three inequalities
2x—5 2
SH3 Jor B2 x1+y'€25.2x—y>0and y20.
Ouesﬁ_on S (b). A cyclist rides for 5 hours at a certain speed and then for 4 hours at a speed
6 km/h greater than her original speed. If she rides 655.8 km altogether, what
was —
- (a).  Write an equation of a straight line which is NOT a function. (i) her average speed ?
(if).  her initial speed ?
(b).  Solve [x—1]=2x-1.
(c).  Forthe graph y =16—2(x+5)". find —
e s Lh T . .
(c). Express 0.124 as a simple fraction. Show working, @ e x-mtercept,
e

(ii).  the y-intercept.
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Question 6 (continued)

Question 8

- if 4+ —6x i sed in the form
(d).  Thelines x =3, y =-2 and y = 10 are tangents 1o a circle which never crosses the y-axis. (a).  Find values for 4, Band Cif y" + 16y + 94 L
Find its -- _ (y+C)" = Blx+ A). :
(i). centre;

(ii). radius. (). 1fx+y=1and x* +y' =19, find the value of PEIE

(e).  With full working to support your answer, determine whether the function 1
? 1
f(x)= fl " is odd. even or neither. {(c). Sketch x2 =
2+

(d).  For every pair of numbers a and b, the function f(x) satisfies b fla)=a’ f(B).1f
-
F(2) =0, find the value of i(j)—f(—) 3

Question 7 18

(a). Solve 3x* = 7x -1, leaving your answer in exact form.

(b).  Sketch, showing all major features —

(). y=—yd-x*

— (ii). p=35—
() & ~x+2

(iii).  y=]px-4

-1

(c).  Express f in simplest form (without fractional/negative indices) and with rational

x?

denominator. [Assume x is an integer.]
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